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= 948,000 948,000 0
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2 19,818, 175 17,905,951 1,912,204
ALY 525 560,200 460,200 100,000
= 40,000 40,000 0
2 520,200 420,200 100,000
ALY ARFX 560,200 460,200 100,000
= 40,000 40,000 0
2 520,200 420,200 100,000
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201 LByl 436,000 336,000 100,000
02 BZ2Y| 436,000 336,000 100,000
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= 8,644 4,322 4,322
= 10,200 10,200 0
2 89,436 85, 114 4,322
Hetord &85 108,280 99,636 8,644
=2 8,644 4,322 4,322
= 10,200 10,200 0
2 89,436 85, 114 4,322
THLHorE FH o HEE XA (2Hl) 17,268 8,644 8,644
= 8,644 4,322 4,322
2 8,644 4,322 4,322
101 o124l 5,800 2,900 2,900
= 2,900 1,450 1,450
2 2,900 1,450 1,450
10 JAR22NE LS 5,800 2,900 2,900
O THLHHOIID QFEZ U FYIQIL (20,00
02 * 2902 * 1) 7 55,800,0002! 5,800 2,900 2,900
= 2,900 1,450 1,450
2 2,900 1,450 1,450
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2 5,744 2,872 2,872
2 5,744 2,872 2,872
01 AR eIl 11,488 5,744 5,744
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Z2& 5,769,000& 5,769 3,623 2,146
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01 Al&HI 28,162 30,055 A 1,893
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Z2& 4,161,100& 4,162 6,055 A 1,893
03 AIZR0iHl 0 293 A 293
O Z=HMbl, 2L & 28 0¥ 0 293 A 293
2oE M= Hil=2 FHISAM 10,000 10,108 A 108
401 A EHIL 201 10,000 10,108 A 108
03 AIE=20bl 0 108 A 108
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401 Al HI YL SO 20,000 20,216 A216
03 Al =04l 0 216 A216
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=0 1,068,000 0 1,068,000
= 660,000 0 660,000
= 408,000 0 408,000
R SIEEEANYSTHAGE(EX) 123,000 0 123,000
= 60,000 0 60,000
= 63,000 0 63,000
402 o 123,000 0 123,000
= 60,000 0 60,000
= 63,000 0 63,000
01 2=x 123,000 0 123,000
Qo HSLEAMOE ZAANY PE
41,000,000 35 123,000 0 123,000
= 60,000 0 60,000
= 63,000 0 63,000
st=2 SHALE (EX) 945,000 0 945,000
S 600,000 0 600,000
= 345,000 0 345,000
402 ord 945,000 0 945,000
S 600,000 0 600,000
= 345,000 0 345,000
01 =2 L 945,000 0 945,000
22 XASAIY B E2(41,500,000& 23
945,000,000& = 14| 945,000 0 945,000
S 600,000 0 600,000
= 345,000 0 345,000
=X ,157,400 857,400 300,000
F=0IX 28 X)AS 830,000 530,000 300,000
402 =0ld 830,000 530,000 300,000
01 22X 830,000 530,000 300,000
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& & 830,000,000 830,000 530,000 300,000
AIIEE NFGeST| ,007,700 997,700 10,000
s 710,000 700,000 10,000
S 70,000 70,000 0
= 227,700 227,700 0
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= 15,000 5,000 10,000
01 AtR2r2lH| 15,000 5,000 10,000
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2 133,000 0 133,000
=) 2,902,448 2,902,448 0
= 793,670 615,670 178,000
2 2,901,076 2,818,208 82,868
BH 2= 00 41 At 1,539,089 1,401,662 137,427
= 236,000 136,000 100,000
2 1,303,089 1,265,662 37,427
A ET B2 ZHIBA 37,240 37,924 684
401 AE6IL 20 37,240 37,924 684
01 Al 37,240 37,492 A252
O ZH4h =1 BI$2 FHIZ AP (37,240, 00021
A1) 2 37,240,008 37,240 37,492 A252
03 Al&=HHl 0 432 A432
O &t =W BI+2 FHIZA AL 20
25 o8l 0 432 A432
BE RER 842 FUIA 48,995 50,000 A1,005
401 AEHIL S0 48,995 50,000 A1,005
01 Al 48,455 49,460 A1,005
O HE XE2 842 FUIZAM ALY
2T 48,455,002 48,455 49,460 A1,005
B SE3D BAR BUIZAL 23,445 23,915 A470
401 AEHIYLS 23,445 23,915 A470
01 Al 23,445 23,915 A470
O &t £E3T BI42 HHIDA (23,445,000
2141 2 23,445,002 23,445 23,915 A470
B BEDS 842 FHIBA 38,967 40,000 A1,083
401 AEHIL S0 38,967 40,000 A1,033
01 Al 38,535 39,568 A1,033
O 2ot YENIS B2 FUIZA ALY
38,535,0002 * 14! 38,535 39,568 A1,083
84 32 842 JUIBM 29,411 30,000 A589
401 AEHIL 20 29,411 30,000 A589
01 Al 29,411 30,000 589
O 84 22 242 FUIZA AL (300m)
2 29,411,000 29,411 30,000 A589
ZE 2 842 FHIA 27,086 27,562 A4T6
401 AEHIL S0 27,086 27,562 A4T6
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401 AIEHIL S ] 57,626 60,000 ~2,374
01 Al&HI 57,626 59,352 A1,726
O BB WEB 242 FJUISA AL
23 57,626,008 57,626 59,352 A 1,726
03 Al& =0 0 648 1648
O BB WHB 242 JHIZA AL2OH]
25 o2l 0 648 1648
W AFHIT HEE FHIZA 97,576 100,000 A2, 424
401 AIEHIL 2] 97,576 100,000 A2,424
01 Al£H| 97,576 99, 100 A 1,524
O BE SF17 42 FHISTA Al&H
23 97,576,008 97,576 99, 100 A1,524
03 Al& =0 0 900 A 900
O BB GF17 A2 FHIZA ALS |
23 0¥ 0 900 A900
W M P 242 FHIZA 44,607 45,425 ~818
401 AIAHIL S THY| 44,607 45,425 £818
01 Al£H| 44,067 44,885 A818
O ZE H& 27 242 U2
23 44,067,008 44,067 44,885 ~818
SX SH 42 FHIZA 22,331 22,815 N434
401 AIAHIL S| 22,331 22,815 N434
01 Al£H| 22,381 22,815 N434
O |1 S& 242 FHIZA
2% 22,381,008 22,381 22,815 ~434
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01 Al&HI 33,199 33,873 ABT74
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& & 33,199,000& 33,199 33,873 ABT74
B4 202 sS2EESA 60,000 30,000 30,000
< 60,000 30,000 30,000
401 AlZHIZ S8l 60,000 30,000 30,000
[ 60,000 30,000 30,000
01 Al&HI 60,000 30,000 30,000
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Z3& 60,000,000 60,000 30,000 30,000
[ 60,000 30,000 30,000
ety F0ts sSEHESA 28,115 30,000 A 1,885
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01 Al&HI 28,115 30,000 A 1,885
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Z& 28,115,000 28,115 30,000 A 1,885
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< 48,000 0 48,000
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< 48,000 0 48,000
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= 212,286 212,286 0
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JtSUE S0 133,000 0 133,000
= 133,000 0 133,000
201 etIH| 133,000 0 133,000
= 133,000 0 133,000
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O M=Xl 2M<I| HZH] 5,000,000 14 5,000 0 5,000
= 5,000 0 5,000
T Z A2t 3,497,925 3,288,000 209,925
= 250,000 0 250,000
i 3,247,925 3,288,000 240,075
SHEEZ 1L E 2,913,950 2,703,000 210,950
= 250,000 0 250,000
2 2,663,950 2,703,000 39,050
2o 2EN MNATZ HASA 165,000 200,000 A 35,000
401 Al&HIZL=ROHYI 165,000 200,000 A 35,000
01 Al&H| 165,000 200,000 A 35,000
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000& 14]) 2 & 165,000,000& 165,000 200,000 A 35,000
2ot sE2075H S X 372,120 374,000 A 1,880
401 AlEHIZ ST 372,120 374,000 A1,880
03 AIZ R0l 2,120 4,000 A 1,880
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=EEMERS 563,975 585,000 A1,005
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L0002 *141) 2= 18,975,000 8,975 20,000 A1,025
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